6.1-6.2 Worksheet (work).notebook January 26, 2024

r=.\4 P n=I2 +=|
1. Joey purchases a jet ski for $6:100 using a credit card. The interest is charged on an unpaid balance ata

rate of 14% per yeaf compounded monthly. If Joey makes no payment fomhow much does he owe
at the end of that year? L’
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2. The number of newly reported cases of tuberculosis, T, (in thousands) in the US from 1991 to 1996 can be
approximated by the eguation 7= 28.5(0.9567)", where t represents the number of years since 1991,
a) ldentify the initial amount, the decay factor, and the annual percent decrease.
b) Estimate the number of newly reported cases i @u this trend continues. Round to the nearest
hundredth.

t=4E
a) initial amount =2%8.5 thousand
decay factor = 0.256%

annnal % decrease = Y.33 94
0.5 3 =~7/\lf—r‘

—0. 0%3 =

0\9{0}3 = Y
) T=18.5(0.9567)" ~ 9.0 thisand




6.1-6.2 Worksheet (work).notebook January 26, 2024

r = .%
3. Adiamond ring was purchased twenty years ago for §7?5. The value of the ring increased hy 8% each year.
What is the value of the rin€ today Jounded to the nearest dollar?

t+=20

y=775(\+. o@)
3@ 1 2-

4. From 1991 to 1995, the number of computers, C, per 100 people worldwide can be modeled by

C=25.2(1.15)", where t is the number of years since 1991.
a) ldentify the initial amount, the growth factor, and the annual percent increase.
b) Estimate the number of computers t =

a) initlal amount = 25. 7_ pex (LT \Oe,o\oley
growth Cactor = 1.15
anhval %/ increase = 15°%

s = I+

8&2‘5 2(1.19)’
[~4Y comprers per 100 people
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5. Phosphorous-32 is used tg plant's use of fertilizer. It has € half-ITYof 14 days. Write and use an

exponential funetier-for B0 mg sampledo find the amount remaining aftef 60 day®yRound to the nearest
hundredth. inthal amit £t=eD

42
y=50(%)
7/% 2.56 o)

\n. ant =047 =

6. Jessy deposits $3200 in an account that earns 4.75% annual interest. Find the balance after 5 years if the
interest is compounded with the given frequencies.

a) quarterly Y1= 4 b) daily N= LS ¢) semiannualy N="2_
S JOt2S\2°S
A=3200 (1452522 A= 30 00 422

Ax$ 4052, 17 A= § 446 .59

\L/ (N ¢ 2
A= %00 (\+%§)l
A= BL0S7. 73
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7. Anew boat valued at $27,000 depreciates at the rate of 12.7% per year.
a) Write a function that models the value of the boat.
b) Find the value of the boat after two years.

a) y=27,000 (I —. P

D) = 27,000 Q=027
Y= £20, 55%. 48

8. NO CALCULATOR: For the function f(x)=2- [% ] , make a table of values and graph. State the domain,

range, and the equation of the asymptote.

X1 ¥

~2 2wy = 2N =52
) =) -8
O l2GT= 2
@) =

=3

R~ Yy>0
Asﬁm\mt@ : Y=O
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9. NO CALCULATOR: For the function ¥ = —% 2" 3 make a table of values and graph. State the domain,

range, and the equation of the asymptote.

X
-2 |-Ka 532 4G +s—-—<L 3=tz
Y Bes SRS AP

0 |eF =@ a = 143 =2
Q™ =2 =243 =)
RO L 3o

e
- e e e S hd




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

